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Examination

The text:

Margaret is a tall English woman. She is a teacher in a primary school.
She likes children and enjoys WOrking with them. At the weekends, she
prefers jogging.

Peter is an Australian journalist. He likes travelling, he is very generous
and he fikes drinking tea.

Activity one: read the text then say whether these statements are frue
or false. 9p

Margaret is french woman. -1["
Margaret is a teacher. |

o

Margaret is a teacher at the high school. 1~

Margaret does not like children. [
Peter is American. [~
Peter is journalist. T
. . o
Peter likes travelling.”}
Peter is not generous. \C
Peter likes drinking ‘reatT

Activity two: try to complete the missing form. 8p

1. Margaret is English woman.
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1 MargareTéoesnT work in hlgh school.
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Activity three: ask questions about the underlined words.3p
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Jhon lives in_England. IV e (/{ S J/% W /\/ Ve oo
The ‘reacher explained the lesson. i i /f v 3// i r//
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GOOD LUCK.



